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An INTRODUCTION to
NUMERICAL METHODS
A MATLAB Approach

Errata (October 1, 2003)

Errata list (First Edition):

Incorrect
* Means from the bottom

Correct

The general form of an if loop The general form of an if

is
Algorithm: [.2cm]
...step we have [.2cm]

of A below all(l)

and from 3 the multiples my,

1 1
AN
4 2

1

82 8
. b=2, %9 (x)=-cosx
and |£%% (x)=-cosx| <1

Plot ... in [0, 3]

a(h)=a(0.1)... ~ 4.4889162287752

£1(1.5) ~...(4.483556674219 — 4.4889162287752)

The MATLAB function fl used ..
function f=f1 (x)

The composite trapezoidal rule for
f(x)=2x+1 with n=5.

Xgs Xy gy X,
an nth degree...p,(x)
p,(2)dz = ...

n+l sample points x; ...
n+l points

3
et Wiz

RN

Y,,=0.36785409848

Vit = Vi T hf (Xi1s Yier)
1<¢<3

statement is
Algorithm:
...step we have

of A below aﬁ)

and from 3 the multiples my,

L b=2, fM) (x)=sinx
and £ (x)=sinx|<1

Plot ...in [0,4.4]

a(h) = a(0.1)... ~ 4.489162287752

£1(1.5) ~...(4.483556674219 — 4.489162287752)

The MATLAB function f2 used ..
function f=£2 (x)

The trapezoidal rule for
f(x)=2x+1.

X5 Xy0en X,
an (n-1)th degree...p,(2)
D, (2)dz = ...

n sample points z; ...
n points

2
et Wy zg

I~1 {g [7+14(@)6}+§(7+ﬂ)+

+§[7+14(@)6}}

Y,,=0.3685409848

Viet = Vi Thg (X5 Vi)
1<x<3
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we set y=y()~14
¢, sin(kx) =0
Seidel.... 407
0.1.003353

5. 5300966
2.0 | 23.85002

1.0 | -28.56

(d) viP=(-1,0,1)

d

we set 7=y (=14
¢, sin(kL)=0
Seidel.... .4.5.2
1.003353

5300966

0 | 13.85002

0 | -34.08

) vit=(1,2,1)

6.
2.
1.
(

d



